EMBU WEST CLUSTER COMMON EVALUATIOIN TEST
END OF YEAR 2021/2022 EXAM
MATHEMATICS
Marking scheme
Form two


3      58.32 x(0.9823)2
    1.                       693.5



              No               Standard form        Log							All logs√
               58.32          5.832X101                    1.7659					            Add/Subtr√
              (0.9823)2     (9.823X10-1)2         1.9922        1.7659  +
		                                              X 2        1.9844
                                                                 1.9844        1.7503


693.5           6.935 X102              2.8410          1.7503

                                                                                     2.8410
							                                                                                                                2.9093

2.9093
                                                                                        3
4.329x10-1                                                                  1+0.06364 =1.6364
=0.4329









2.	 N =  = 15
(2n-4)90
26x15
=23400


3.
3 4 (m+1)+3 4m =246
3 (4m+4) + 3 4m =246
34m X34 +34m =246
81x 3 4m+3 4m=246
Let 3 4m be y
81y+y =246
82y=246
Y=3
3 4m=31
4m=1
M=


 (
2
) (
3
)4.  (a)





Tan Ѳ= 



(b) Cos(90-Ѳ) =          


5.         100   300   500   700				3x5x7x100=10500
              3      3         5      7						10500+200
  5      1         5      7						10,700ml
  7      1        1        7
           1       1       1


6. Volume of liquid X  =       500           = 277.78 cm3
                                              1.8 g/cm3
Volume of liquid Y =     890g 			= 342.31 cm3
			 2.6 g/cm3
Total mass = 890+500=1390 g
Total volume = 342.31 +277.79
	620.09 cm3
Density of mixture   1390
		       620.09 cm3
   = 2.242g/cm3
7. (i) I us dollar – 85.86
                    4321 - ?
        43521 X85.86 = 3,736,713.06 Kenyan shillings
    (ii) 3736713.096 – 2437821= 1,298,892.06
          1 sterling pound – 142.73
                                   ? – 1298892.06
                                          
=9100.34373




8. 2≤3-x 						3-x<5
   -1 ≤ -x						-x < 2
     1> x						x>-2
                         -2<x≤ 1
9.	125%        1500
100% =    ?
100X 1500 =1200
      125
Profit =400
% profit = 400 X 100= 33  %
                        1200

10.       5x2 +5x3X+3
              (x-1) (x+1)
            5x(x+1) +3(x+1)
(x-1) (x+1)
(5x+3) (x+1)
(x-1)(x+1)
(5x+3) (x+1)
   (x-1) (x+1)
5x-3
  x-1









11.	26+16   	15-18                     -7- - 
  -6                      9                   
                                                       - 7+ 
          42 = -7             -3=  - 
          -6 	           9                                      -6 



12.		Men    hrs      days    acre
5         10         2         1
2          6           ?        3
                         X 2 X  X 
                              =25 days
13.	3(  x 1      +14 (   X 1
               10-1		       10-1
3(0.1569X101 )+14(0.1786X 10-1)
4.707+25.004
=29.711


14.  L.S.F =  = 
A.S.F =  3    2    = 
               2
9= 336 cm2
4= X
X=4  X 336
          9

X =149.33
336 – 149.33
=186.67
74 cm2











15.	 (x+3) X  x =5
     (x+3) x =10
      x2 +3x=10
      x2 +3x – 10=0
           P=-10
             S=3
          51-2
x2+5x – 2x -10=0
x(x=5 ) 2(x+5) =0
(x-2) (x+5) =0
X=2 or -5
X=2
                  Base 2+3 =5cm
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17. 48000 – 200000=28,000
  = 28000

X =28000 X = 350,000
Sales 350,000+100,000=450,000		 (4mks)

(b)
(i)
 X 450,000=531,000
531,000 – 100,00 = 431,000
431000 X  = 34,480 			(3mks)

(ii)
 X 531,000 = 398,250
Commission 298,250 X  =23,860
23860 +20,000= 43860			 (3mks)













\













18.  (a) 
(i) 
L = Ѳ   X 2Ԥr       L=  X  2 X  X 40
     360
=88cm							 (2mks)

(ii)
A = Ѳ x ∏r 2
3600
 X2 X  X 40X40
1760cm2						 (2mks)

(b)
(i)
Length of arc = circumference of circular base
88= 2
r= 88 ==14cm
        2∏
	                 
 (
h
) (
40
)                                H=   =37.47                             



 (
14
)


V =  ∏r2h
 X  X 14 2 37.47
7693.84 cm3
7.69384 litres (2mks)


19. 
(i)
<ADC =400
Angle substended by the same chord AD at the circumference are equal.
(ii)
<CAB =500
Angles in a triangle add upto 1800
 (iii)
<DBA 400
Angles in a triangle add up to 1800
(iv)
<CEB 500
Angles in a triangle add up to 1800
(v)
<ADC =400
Angles in a triangle add up to 1800
20.


OA =   2
            4
OB =   12
	-4
AB = AO +OB
-2	12
-4   + 	 -4

=   10
                   -8
(ii)
NM = NB + BM
               (OB) +   (BA)

             +    
	  +  
                NB =
(iii)
│NM│  =   42+12

	17                 = 4.123
               = 4.1
(b)
	A’ (5,-1)                   Translation vector               
	A(2,4)                        =       -        =                 B1  =      
                     +  =                                               B1 (15,-9)
                                                    B1 =      +  =
	

21. (a)
Maximum speed in km/hr
Distance = 10450 m
650+300  X  h   =10450
        2
475 h =10450
H=22m/s
22 X 3600 = 79.2km/hr
         1000
(b)  =   m/s2
(c) Distance covered in the last 200 seconds
 X200 X22 =2200
 (22+h)X 100 +  X 100h =2200
1100+50h+50h=2200
100h=1100
Height is11 m/s
Distance in last 100 seconds =   X 100X 11
=550m
(d)Distance covered in half of the journey 
  = 5225
Distance covered in the first 150seconds  X 22 X150 = 1650m
Remaining distance = 5225 -1650 =3575
22y = 3575
Y=162.5
162.5 +150=312.5 seconds
22.  (a)
(-2,3) (-1,6)
Gradient of L =   = 3
  = 3
y-3 =3x =6
y=3x+9
(b)
gradient of P = 
  = 
3y -18 = -x+1
3y =-x +17
Y =   + 
(c)
Gradient of the line =3
  = 3
y-2 =3x-3
y=3x-1
X intercept y=0
0=3x-1
3x=1
X = 
Y intercepts x=0
Y=-1


(d)
P     x+3y =17
Q    3x-y =11
X+3y =17
3x-y =1
X=17-3y
3(17-3y)-y=1
51-9y-y=1
51-10y =1
-10y=-50
Y=5
X=17-15
X=2
Point of intersection
(2,5)

23. (a) 
Modal class 70-79
(b)
Mean mark
	Marks
	Frequecy
	x
	fx
	cf

	20-29
	4
	24.5
	98
	4

	30-39
	5
	34.5
	172.5
	9

	40-49
	4
	44.5
	178
	13

	50-59
	7
	54.5
	381.5
	20

	60-69
	6
	64.5
	387
	26

	70-79
	8
	74.5
	596
	34

	80-89
	1
	84.5
	84.5
	35

	90-99
	1
	94.5
	94.5
	36

	
	∑f =36
	
	∑fx=1992
	




Mean =   = 55.33

(c)
Median mark
 = 18
49.5+     X10
49.5+7.14285
=56.64285
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